' GROUP 2 ENGINE SYSTEM

ENGINE AND ACCESSORIES MOUNTING

/)

Corrosion
resistor

3809A9CMO1

- Tightening torque

ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 | M8 x1.25 25+0.5 18.1+3.6 3 | M12x1.75 | 128£3.0 92.6+21.7
2 | M10x1.5 6.9+14 49.9+10.1 4 | M24x3.0 90+7.0 65151

9-2




COOLING SYSTEM AND FUEL TANK MOUNTING

2

Fuel tank

Fuel cooler

Condenser

S b4
Needle vaIve7%‘ Screen

Vi

Reservoir tank—'f

4 CA ‘
Jh 0
—Fan guar%
—Shroud
e
4 I\ -1 8
R 5—4 3
3809A9CM02
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 | M6x1.0 0.5+0.2 3.6+1.45 5 | M16x20 290.7+45 215+32.5
2 | M8x1.25 25105 18.1£3.6 6 | M20x25 46+5.1 333+36.9
3 | M10x1.5 6.9+1.4 49.4+10.1 7 - 2.3+0.6 16.61+4.3
4 | M12x1.75 12.8+3.0 92.6+21.7 - - -

9-3





